Health Care Reform: Applicable Large Employer Worksheet

Number of full-time employees:
Full-time employee is an employee who is employed on average at least 30 hours per week or
130 hours per month. Count all employees in the controlled group including seasonal employees.
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Number of full-time equivalent employees:
Add the aggregate hours of service for non-fuill-time employees (but not mare than 120 hours for
any employee) divided by 120. Count all employees in the controlled group including seasonal
employees.
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If the number in line 28 is less than 50, then NOT an Applicable L.arge Employer
If the number in line 28 is 50 or more, then an Applicable Large Employer*

* Seasonal Employee Exception: f the full-time employees and full-time equivalents only exceeds 50 for four months or less, and
the employees in excess of 50 during this period of time are seasonal employees, then the employer is not an Applicable Large
Employer.

This worksheet is intended for general information only and is not fo be construed as legal advice. The worksheet provides a basic
overview of the Applicable Large Employer calculation. Additional rules and exceptions may apply in specific circumstances. Any
federal tax advice in this worksheet cannot be used to avoid penalties under the Internal Revenue Code or to recommend to another
party any transaction or matter.



